C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a 7 with the value of 700 or 7 hundreds?
A.5173 B. 9,724 C. 6,537 D. 7,169

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 2,639 B. 8,953 C. 49,378 D. 2,493

Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 32,415 B. 97,835 C. 41,938 D. 83,579

Which choice has a5 with the value of 50 or 5 tens?
A. 745 B. 257 C.45 D. 715

Which choice has a9 with the value of 900 or 9 hundreds?
A. 895 B. 6,139 C. 193 D. 7,918

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 2798 B. 1,942 C. 19,752 D. 5,978

Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 69,312 B. 496,732 C. 817,945 D. 927,138

Which choice has a9 with the value of 90 or 9 tens?
A. 981 B. 916 C.97 D. 849

Which choice has a 6 with the value of 600 or 6 hundreds?
A. 368 B. 618 C. 7,264 D. 568

Which choice has a 3 with the value of 3,000 or 3 thousands?
A. 97,423 B. 3,264 C. 31,679 D. 8,437

Which choice has a5 with the value of 50,000 or 5 ten thousands?
A. 953,187 B. 28,659 C. 175,693 D. 217,538

Which choice has a 3 with the value of 30 or 3 tens?
A.35 B. 312 C. 317 D. 359

Answers

10.
11.

12.

C
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C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a 7 with the value of 700 or 7 hundreds?
A.5173 B. 9,724 C. 6,537 D. 7,169

2) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 2,639 B. 8,953 C. 49,378 D. 2,493

3) Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 32,415 B. 97,835 C. 41,938 D. 83,579

4) Which choice has a5 with the value of 50 or 5 tens?
A. 745 B. 257 C.45 D. 715

5) Which choice has a 9 with the value of 900 or 9 hundreds?
A. 895 B. 6,139 C. 193 D. 7,918

6) Which choice has a 9 with the value of 9,000 or 9 thousands?
A. 2798 B. 1,942 C. 19,752 D. 5,978

7) 'Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 69,312 B. 496,732 C. 817,945 D. 927,138

8) Which choice has a 9 with the value of 90 or 9 tens?
A. 981 B. 916 C.97 D. 849

9) Which choice has a 6 with the value of 600 or 6 hundreds?
A. 368 B. 618 C. 7,264 D. 568

10) Which choice has a 3 with the value of 3,000 or 3 thousands?
A. 97,423 B. 3,264 C. 31,679 D. 8,437

11) Which choice has a 5 with the value of 50,000 or 5 ten thousands?
A. 953,187 B. 28,659 C. 175,693 D. 217,538

12) Which choice has a 3 with the value of 30 or 3 tens?
A.35 B. 312 C. 317 D. 359

Answers
1. B
2. C
3 A
s, B
5. D
6. C
7 B
g C
9. B
0. B
1. A
1. A
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